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PROBABILITY

1. In the given figure, A, B, C and D are centres

of four circles that have a radius of 1 unit. If a


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_H7rI50fQESTO

point is selected at random from interior of
square ABCD, then what is the probability that

it lies in the shaded region

° Watch Video Solution

2. What is the probability that a number
selected from the number 1,2.3..., 25 is a prime
number, when each of the given numbers is

equally likely to be selected?

° Watch Video Solution



https://dl.doubtnut.com/l/_H7rI50fQESTO
https://dl.doubtnut.com/l/_3W63GWS68G9z
https://dl.doubtnut.com/l/_wyrdKLLmxHV2

3. One card is drawn from a pack of 52 cards,
each of the 52 cards being equally likely to be
drawn. Find the probability that the card
drawn is: (i) an ace (ii) red (iii) either red or

king (iv) red and a king.

o Watch Video Solution

4. The king, queen and jack of clubs are
removed from a deck of 52 playing cards and
then well shuffled. One card is selected from

the remaining cards. Find the probability of


https://dl.doubtnut.com/l/_wyrdKLLmxHV2
https://dl.doubtnut.com/l/_0y9Fen4ZSpTo

getting i)a heart ii)a king iii)a club iv) the 10 of

hearts

° Watch Video Solution

5. From a pack of 52 playing cards Jacks,
queens, kings and aces of red colour are
removed. From the remaining, a card is drawn
at random. Find the probability that the card
drawn is : (i) a black queen (ii) a red card

(iii) a black jack

° Watch Video Solution



https://dl.doubtnut.com/l/_0y9Fen4ZSpTo
https://dl.doubtnut.com/l/_z2rOpyj5ASLZ

6. A piggy bank contains hundred 50 paise
coins, fifty Rs. 1 coins, twenty Rs. 2 coins and
ten Rs. 5 coins. If it is equally likely that one of
the coins will fall out when the bank is turned
upside down, find the probability that the coin
which fell (i) will be a 50 paise coin (ii) will be
of value more than Rs. 1 (iii) will be of value

less than Rs. 5 (iv) will be a Rs. 1 or Rs. 2 coin.

o Watch Video Solution



https://dl.doubtnut.com/l/_z2rOpyj5ASLZ
https://dl.doubtnut.com/l/_l9lLTmwigjLX

7. All jacks, queens and kings are removed from
a pack of 52 cards. The remaining cards are
well-shuffled and then a card is randomly
drawn from it. Find the probability that this

card is (i) a black face card (ii) a red card

o Watch Video Solution

8. The probability that an year chosen at

random has 53 Sundays is :

o Watch Video Solution



https://dl.doubtnut.com/l/_L5l8NCuUoXyO
https://dl.doubtnut.com/l/_vXoXsFiob7oz

9. Two unbiased coins are tossed
simultaneously. Find the probability of getting
(i) two head (ii) one head one tail (iii) at least

one head (iv) at most one head (v) no head

o Watch Video Solution

10. Two dice are thrown. Find the probability of
getting an odd number on the first die and a

multiple of 3 on the other.

o Watch Video Solution



https://dl.doubtnut.com/l/_vXoXsFiob7oz
https://dl.doubtnut.com/l/_Vs3GMUuVwcYx
https://dl.doubtnut.com/l/_ZVO40Fi9wbKy

11. In the accompanying, diagram a fair spinner
is placed at the centre O of the circle,
Diameter AOB and radius OC' divide the
circle into three rigions lebelled X, YandZ . If
/BOC = 45". What is the probability that

the spinner will land in the region X7

o Watch Video Solution



https://dl.doubtnut.com/l/_ZVO40Fi9wbKy
https://dl.doubtnut.com/l/_amdJwZEfCUBs

12. An unbiased die is thrown. What is the
probability of getting: (i) an even number (ii)
a multiple of 3 (iii) an even number or a
multiple of 3 (iv) an even number and a
multiple of 3 (v) a number 3 or 4 (vi) an odd
number (vii) a number less than 5 (viii) a
number greater than 3 (ix) a number between

3and 6

o Watch Video Solution



https://dl.doubtnut.com/l/_FHc0bY4Auvbt

13. All red face cards are removed from a pack
of playing cards. The remaining cards are well
shuffled and then a card is drawn at random
from then. Find the probability that the drawn
card is (i)a red card (ii) a face card and (iii) a

card of clubs.

o Watch Video Solution

14. A square dart board is placed in the first

quadrant fromz =0toxz =6 and y =0 to


https://dl.doubtnut.com/l/_FHUMX0y3sGxM
https://dl.doubtnut.com/l/_crbsCOHpg5kB

y = 6 . A triangular region on the dart board
is enclosed by the lines y =2,z =6 and
y = z- Find the probability that a dart that
randomly hits the dart board will land in the

triangular region formed by the three lines.

° Watch Video Solution

15. In figure, a dart is thrown and lands in the
interior of the circle. What is the probability

that the dart will land in the shaded region?

° Watch Video Solution



https://dl.doubtnut.com/l/_crbsCOHpg5kB
https://dl.doubtnut.com/l/_j22zbS3tYLL4

16. Three unbiased coins are tossed together.
Find the probability of getting:
(i)all heads
(i) two heads
(iii)one head

(iv) at least two heads

° Watch Video Solution

17. A target shown in Figure, consists of three

concentric circles of radii 3,7 and 9cm


https://dl.doubtnut.com/l/_j22zbS3tYLL4
https://dl.doubtnut.com/l/_34rmKWNawgoP
https://dl.doubtnut.com/l/_lhFb1zy8m0WT

respectively. A dart is thrown and lands on the
target. What is probability that the dart will

and on the shaded region?

° Watch Video Solution

18. Tickets numbered from 1 to 20 are mixed
up together and then a ticket is drawn at
random. What is the probability that the ticket

has a number which is a multiple of 3 or 77

° Watch Video Solution



https://dl.doubtnut.com/l/_lhFb1zy8m0WT
https://dl.doubtnut.com/l/_9yRHk6gFgHde
https://dl.doubtnut.com/l/_0CwHcUMJ2NPz

19. In a family of 3 children, the probability of

havi t least b '7(b)1()5(d)3
aving at least one boy is = 593 1

o Watch Video Solution

20. Find the probability that a number
selected at random from the numbers 1,2,3,..35
is a prime number (ii) multiple of 7  (iii) a

multiple of 3 or 5

° Watch Video Solution



https://dl.doubtnut.com/l/_0CwHcUMJ2NPz
https://dl.doubtnut.com/l/_8nWNZKcrWtNa
https://dl.doubtnut.com/l/_9Qhpbn6oo2FG

21. In a simulataneous throw of a pair of dice,
find the probability of getting: (i) 8 as the
sum (i1) a doublet (iii) a doublet
of prime numbers (iv) a doublet of odd
numbers (v) a sum greater than 9 (vi) an
even number on first (vii) an even number on
one and a multiple of 3 on the other (viii)
neither 9 or 11 as the sum of the numbers on
the faces (ix) a sum less than 6 (x) a
sum less than 7 a sum more than 7 (xii)

at least once (xiii) a number other than 5 on

any dice (xiv) even number on each die (xv) 5


https://dl.doubtnut.com/l/_9Qhpbn6oo2FG

as the sum (xvi) 2 will come up at

least once (xvii) 2 will not come either time

° Watch Video Solution

22. A number is selected at random from the
numbrs 3,5,5,7,7,7, 9,9,9,9. The probability that

the selected number is their average is 0 (b)

3 7 9

70 9 15 @ 15

o Watch Video Solution



https://dl.doubtnut.com/l/_9Qhpbn6oo2FG
https://dl.doubtnut.com/l/_3LVmFE6Z4011

23. The probability of guessing the correct
answer to a certain test questions is % If the
probability of not guessing the correct answer
to this question is % then x =(a)2 (b) 3 (c) 4

(d) 6

o Watch Video Solution

24.Two dice are rolled one after the other.The

probability that the number on the first dice is


https://dl.doubtnut.com/l/_I32Qj2R9ZCQ7
https://dl.doubtnut.com/l/_tWDmCqgNnOVl

smaller than that of the number on second

dice is-

° Watch Video Solution

25. A letter is chosen at random from the
letters of the word ASSASSINATION. Find the
probability that the chosen is (i)a vowel (ii)

consonant.

o Watch Video Solution



https://dl.doubtnut.com/l/_tWDmCqgNnOVl
https://dl.doubtnut.com/l/_xtErnSMGjrRF

26. A number x is selected from the numbers
1,2,3 and then a second number y is randomly
selected from the numbers 1,4,9. What is the
probability that the product xy of the two

numbers will be less than 9?7

o Watch Video Solution

27. A jar contains 54 marbles each of which is
blue, green or white. The probability of

selecting a blue marble at random from the jar


https://dl.doubtnut.com/l/_qHTznDOnFMD2
https://dl.doubtnut.com/l/_XWMVbh8DRh5v

is 3 and the probability of selecting a green

4
marble at random is 9 How many white

marbles does the jar contain?

° Watch Video Solution

28. It is know that a box of 600 electric bulbs
contains 12 defective bulbs. One bulb is taken
out at random from this box. What is the

probability that it is a non-defective bulb?

° Watch Video Solution



https://dl.doubtnut.com/l/_XWMVbh8DRh5v
https://dl.doubtnut.com/l/_BSq45BtgsHoM
https://dl.doubtnut.com/l/_IdSWDTtogp82

29. A bag contains 3 red and 2 blue marbles. A
marble is drawn at random. What is the

probability of drawing a blue marble?

° Watch Video Solution

30. A bag contains 5 red balls, 8 white balls, 4
green balls and 7 black balls. If one ball is
drawn at random, find the probability that it

is: (i)black(ii) red(iii) not green

° Watch Video Solution



https://dl.doubtnut.com/l/_IdSWDTtogp82
https://dl.doubtnut.com/l/_P8PopdWmLpOe

31. 17 cards numbered 1,2,3...., 17 are put in a
box and mixed thoroughly. One person draws
a card from the box. Find the probability that
the number on the card is: (i)odd (ii) a
prime(iii) divisible by 3 (iv)divisible by 3 and 2

both

o Watch Video Solution

32.In the Figure, a square dart board is shown.

The length of a side of the larger square is 1.5


https://dl.doubtnut.com/l/_1fmXBmTxBvPQ
https://dl.doubtnut.com/l/_zmbLQjP64b3v

times the length of a side of the smaller
square. If a dart is thrown and lands on the
larger square. What is the probability that it

will land in the interior of the smaller square?

° Watch Video Solution

33. Two numbers a and b are selected
successively without replacement in that order
from the integers 1 to 10.The probability that

a . : ,
3 Is an Integer, Is

° Watch Video Solution



https://dl.doubtnut.com/l/_zmbLQjP64b3v
https://dl.doubtnut.com/l/_mYCpLAO7grgY

34. If number x is chosen fromthe numbers
1,2,3, and a number y is selected from the

numbers 1,4,9. Then, P(zy < 9)

° Watch Video Solution

35. A bag contains 5 red balls and some blue
balls. If the probability of drawing a blue ball is
double that of a red ball, find the number of

blue balls in the bag.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_mYCpLAO7grgY
https://dl.doubtnut.com/l/_agKtRqBdETR7
https://dl.doubtnut.com/l/_u20g1xLI2PPR

36. A bag contains 12 balls out of which x are
white. If one ball is drawn at random, what is
the probability that it will be a white ball? If 6
more white balls are put in the bag, the
probability of drawing a white ball will be

double than that in (i). Find x .

° Watch Video Solution



https://dl.doubtnut.com/l/_u20g1xLI2PPR
https://dl.doubtnut.com/l/_dgQ18qxJU8hU

37. Cards marked with the numbers 2 to 101
are placed in a box and mixed thoroughly. One
card is drawn from this box. Find the
probability that the number on the card is: (i)

an even number (i) a number less than 14

o Watch Video Solution

38. Cards marked with the numbers 2 to 101
are placed in a box and mixed thoroughly. One

card is drawn from this box. Find the


https://dl.doubtnut.com/l/_D2ON7J9v2plT
https://dl.doubtnut.com/l/_JCBDouYUqQ1l

probability that the number on the card is: (i)
a number which is a perfect square (ii) a prime

number less than 20.

° Watch Video Solution

39. 1000 tickets of a lottery were sold and
there are 5 prizes on these tickets. If Saket has
purchased one lottery ticket, what is the

probability of winning a prize?

° Watch Video Solution



https://dl.doubtnut.com/l/_JCBDouYUqQ1l
https://dl.doubtnut.com/l/_FCOI2Jj2GmgI
https://dl.doubtnut.com/l/_hKE8KXKKlakl

40. A child has a block in the shape of a cube
with one letter written on each face as shown
below: (FIGURE) The cube is thrown once.

What is the probability of getting (i) A ? (ii) D

?

o Watch Video Solution

41. Savita and Hamida are friends. What is the
probability that both will have (i) the same
birthday? (ii) different birthdays? (ignoring a

leap year).


https://dl.doubtnut.com/l/_hKE8KXKKlakl
https://dl.doubtnut.com/l/_UK0pKTDwR2Fg

O Watch Video Solution

42. There are 40 students in class X of a
school of whom 25 are girls and 15 are boys.
The class teacher has to select one student as
a class representative. She writes the name of
each student on a separate card, the cards
being identical. Then she puts cards in a bag
and stirs them thoroughly. She then draws
one card from the bag. What is the probability
that the name written on the card is the name

of (i) a girl? (ii) a boy?


https://dl.doubtnut.com/l/_UK0pKTDwR2Fg
https://dl.doubtnut.com/l/_Bpo9bP7l7IKp

° Watch Video Solution

43. A carton consists of 100 shirts of which 88
are good, 8 have minor defects and 4 have
major defects. Jimmy, a trader, will only accept
the shirts which are good, but Sujatha,
another trader, will only reject the shirts which
have major defects. One shirt is drawn at
random from the carton. What is the
probability that it is acceptable to (i) Jimmy?

(ii) Sujatha?

I ° Watch Video Solution


https://dl.doubtnut.com/l/_Bpo9bP7l7IKp
https://dl.doubtnut.com/l/_FfkmRa1MoU5C

44, Gopi buys a fish from a shop for his
aquarium. The shopkeeper takes out one fish
at random from a tank containing 5 male fish
and 8 female fish. What is the probability that

the fish taken out is a male fish?

° Watch Video Solution

45. A piggy bank contains hundred 50 paise

coins, fifty Rs. 1 coins, twenty Rs. 2 coins and


https://dl.doubtnut.com/l/_FfkmRa1MoU5C
https://dl.doubtnut.com/l/_HzoOpqYF59Pq
https://dl.doubtnut.com/l/_tNXruaGzpn2l

ten Rs. 5 coins. If it is equally likely that one of
the coins will fall out when the bank is turned
upside down, find the probability that the coin
which fell will be a 50 paise win will be of value
more than Rs. 1 will be of value less than Rs. 5

will be a Rs. 1 or Rs. 2 coin.

o Watch Video Solution

46. A game of chance consists of spinning an
arrow which comes to rest pointing at one of

the numbers 1, 2, 3, 4, 5, 6, 7, 8 (See Fig.


https://dl.doubtnut.com/l/_tNXruaGzpn2l
https://dl.doubtnut.com/l/_6aUppfQv4fY4

131), and these are equally likely outcomes.
What is the probability that it will point at (i)
8?7 (i) an odd number? (iii) a number greater

than 27 (iv) a number less than 9?

o Watch Video Solution

47. A game consists of tossing a one rupee
coin 3 times and noting its outcome each
time. Hanif wins if all the tosses give the same

result i.e. three heads or three tails, and loses


https://dl.doubtnut.com/l/_6aUppfQv4fY4
https://dl.doubtnut.com/l/_9Ikd61feNtFj

otherwise. Calculate the probability that Hanif

will lose the game.

° Watch Video Solution

48. If a number x is chosen at random from
the numbers —2, — 1, 0, 1, 2. What is the

probability that 22 < 27?

° Watch Video Solution



https://dl.doubtnut.com/l/_9Ikd61feNtFj
https://dl.doubtnut.com/l/_MSpJcOnqBLAU

49. A jar contains 24 marbles some are green
and others are blue. If a marble is drawn at
random from the jar, the probability that it is
green is 2/3 . Find the number of blue

marbles in the jar.

o Watch Video Solution

50. The probability that it will rain tomorrow is
0.85. What is the probability that it will not

rain tomorrow?

| & I


https://dl.doubtnut.com/l/_GrkdEh2nkf4v
https://dl.doubtnut.com/l/_jw5L21LO58Gg

| ¥ Watch Video Solution |

51. A die is thrown. Find the probability of
getting: (i) a prime number (ii) 2 or4 (iii) a

multiple of 2 or 3

o Watch Video Solution

52. A die is thrown. Find the probability of
getting: (i) an even prime number (i) a
number greater than 5 (iii) a number lying

between 2 and 6


https://dl.doubtnut.com/l/_jw5L21LO58Gg
https://dl.doubtnut.com/l/_he1Zdv9EJTZD
https://dl.doubtnut.com/l/_oZudZq9PvxKR

° Watch Video Solution

53. Three coins are tossed together. Find the
probability of getting: (i) exactly two heads
(i) at most two heads (iii) at least one head

and one tail. (iv) no tails

o Watch Video Solution

54. What is the probability that an ordinary

year has 53 sundays?

| e |


https://dl.doubtnut.com/l/_oZudZq9PvxKR
https://dl.doubtnut.com/l/_70gLWp2DiIis
https://dl.doubtnut.com/l/_IDD4lR6X7KjU

& Wwatch Video Solution I

55. What is the probability that a leap year has

53 Tuesdays and 53 Mondays?

o Watch Video Solution

56. A and B throw a pair of dice. If A throws 9,

find B’s chance of throwing a higher number.

° Watch Video Solution



https://dl.doubtnut.com/l/_IDD4lR6X7KjU
https://dl.doubtnut.com/l/_ssG0zeh7ErgK
https://dl.doubtnut.com/l/_AtzEGXnVFn1p
https://dl.doubtnut.com/l/_zQX87nkkDqci

57. Two unbiased dice are thrown. Find the
probability that the total of the numbers on

the dice is greater than 10.

° Watch Video Solution

58. A card is drawn at random from a pack of
52 cards. Find the probability that the card
drawn is (i) a black king (ii) either a black

card or a king (iii) black and a king

° Watch Video Solution



https://dl.doubtnut.com/l/_zQX87nkkDqci
https://dl.doubtnut.com/l/_2S0GMzQrOrNO
https://dl.doubtnut.com/l/_UvbeFvlVPMl6

59. A card is drawn at random from a pack of
52 cards. Find the probability that the card
drawn is (i) a jack, queen or a king (i)

neither a heart nor a king (iii) spade or an ace

o Watch Video Solution

60. A card is drawn at random from a pack of
52 cards. Find the probability that the card
drawn is (i) neither an ace nor a king (i)
neither a red card nor a queen. (iii) other than

an ace


https://dl.doubtnut.com/l/_UvbeFvlVPMl6
https://dl.doubtnut.com/l/_H15FsUzIwGCB

° Watch Video Solution

61. A card is drawn at random from a pack of
52 cards. Find the probability that the card
drawn is (i) a ten (ii) a spade (iii) a black

card (iv) the seven of clubs

o Watch Video Solution

62. A card is drawn at random from a pack of

52 cards. Find the probability that the card


https://dl.doubtnut.com/l/_H15FsUzIwGCB
https://dl.doubtnut.com/l/_6L1u0gNUQzt6
https://dl.doubtnut.com/l/_hy7v7KMvzkIa

drawn is (i) jack (i) the ace of spades

(il)) a queen

° Watch Video Solution

63. A card is drawn at random from a pack of
52 cards. Find the probability that the card
drawn is (i) the heart (ii) a red card (iii)

neither a king nor a queen

o Watch Video Solution



https://dl.doubtnut.com/l/_hy7v7KMvzkIa
https://dl.doubtnut.com/l/_omUDrwf5trr3

64.1n a lottery of 50 tickets numbered 1 to 50,
one ticket is drawn. Find the probability that

the drawn ticket bears a prime number.

o Watch Video Solution

65. An urn contains 10 red and 8 white balls.
One ball is drawn at random. Find the

probability that the ball drawn is white.

o Watch Video Solution



https://dl.doubtnut.com/l/_3D2Vh3sxtemr
https://dl.doubtnut.com/l/_8j3nfWlJnZek
https://dl.doubtnut.com/l/_o6IHTUfALwY7

66. A bag contains 3 red balls, 5 black balls and
4 white balls. A ball is drawn at random from
the bag. What is the probability that the ball
drawn is: (i) white? (ii) red? (iii)

black? (iv) not red?

o Watch Video Solution

67. What is the probability that a number
selected from the numbers 1, 2, 3, ; 15 is a

multiple of 4?

o Watch Video Solution



https://dl.doubtnut.com/l/_o6IHTUfALwY7
https://dl.doubtnut.com/l/_bzTXhgsqpsut

68. A bag contains 6 red, 8 black and 4 white
balls. A ball is drawn at random. What is the

probability that ball drawn is not black?

o Watch Video Solution

69. A bag contains 5 white and 7 red balls. One
ball is drawn at random. What is the

probability that ball drawn is white?

o Watch Video Solution



https://dl.doubtnut.com/l/_bzTXhgsqpsut
https://dl.doubtnut.com/l/_CYeffdwHBB7l
https://dl.doubtnut.com/l/_tHNlQIkVrqXh

70. Tickets numbered from 1 to 20 are mixed
up and a ticket is drawn at random. What is
the probability that the ticket drawn has a

number which is a multiple of 3 or 77

o Watch Video Solution

71. In a lottery there are 10 prizes and 25
blanks. What is the probability of getting a

prize?

l o Watch Video Solution


https://dl.doubtnut.com/l/_tHNlQIkVrqXh
https://dl.doubtnut.com/l/_Cm7dWPBuuGLV
https://dl.doubtnut.com/l/_COg8JAYDWd7S

72. If the probability of winning a game is 0.3,

what is the probability of loosing it?

o Watch Video Solution

73. A bag contains 5 black, 7 red and 3 white
balls. A ball is drawn from the bag at random.
Find the probability that the ball drawn is (i)

red (ii) black or white (iii) not black

° Watch Video Solution



https://dl.doubtnut.com/l/_COg8JAYDWd7S
https://dl.doubtnut.com/l/_TrxiTAGxrVW9
https://dl.doubtnut.com/l/_YoycFGvjb8TK

74. A bag contains 4 red, 5 black and 6 white
balls. A ball is drawn from the bag at random.
Find the probability that the ball drawn is (i)
white (ii) red (iii) not black (iii) red

or white

o Watch Video Solution

75. A black die and a white die are thrown at

the same time. Write all the possible


https://dl.doubtnut.com/l/_YoycFGvjb8TK
https://dl.doubtnut.com/l/_mmeXDbWJs2dn
https://dl.doubtnut.com/l/_Zjc2zfne2mR5

outcomes. What is the probability

(i) that the sum of the two numbers that turn
up is 8?7

(ii)of obtaining a total of 67

(iii) of obtaining a total of 10?

o Watch Video Solution

76. A black die and a white die are thrown at
the same time. Write all the possible
outcomes. What is the probability (i) of

obtaining the same number on both dice? (ii)


https://dl.doubtnut.com/l/_Zjc2zfne2mR5
https://dl.doubtnut.com/l/_zanxVpaOjzSZ

of obtaining a total more than 9? (iii) that the
sum of the two numbers appearing on the top

of the dice is 13?7

° Watch Video Solution

77. A black die and a white die are thrown at
the same time. Write all the possible
outcomes. What is the probability? that the
sum of the numbers appearing on the top of

the dice is less than or equal to 127

° Watch Video Solution



https://dl.doubtnut.com/l/_zanxVpaOjzSZ
https://dl.doubtnut.com/l/_9Hd1vojnxkMq

78. One card is drawn from a well shuffled deck
of 52 cards. Find the probability of getting: (i)
a king of red suit (ii) a face card (iii) a red

face card

° Watch Video Solution

79. One card is drawn from a well shuffled deck
of 52 cards. Find the probability of getting: (i)
a queen of black suit (ii) a jack of hearts (iii)

a spade


https://dl.doubtnut.com/l/_9Hd1vojnxkMq
https://dl.doubtnut.com/l/_1pavcn6EYXyP
https://dl.doubtnut.com/l/_f2azKL9txY4t

° Watch Video Solution

80. Five cards-ten, jack, queen, king, and an ace
of diamonds are shuffled face downwards. One
card is picked at random. What is the

probability that the card is a queen?

o Watch Video Solution

81. Five cards-ten, jack, queen, king, and an ace

of diamonds are shuffled face downwards. One


https://dl.doubtnut.com/l/_f2azKL9txY4t
https://dl.doubtnut.com/l/_tjI69MB1cUq6
https://dl.doubtnut.com/l/_VMeLWFlh9ZHy

card is picked at random. If a king is drawn
first and put aside, what is the probability that
the second card picked up is the (i) ace? (ii)

king?

° Watch Video Solution

82. A bag contains 3 red balls and 5 black balls.
A ball is drawn at random from the bag. What
is the probability that the ball drawn is: (i)

red (ii) black

° Watch Video Solution



https://dl.doubtnut.com/l/_VMeLWFlh9ZHy
https://dl.doubtnut.com/l/_OwR4DMTUtNde

8. A bag contains cards which are numbered
from 2 to 90. A card is drawn at random from
the bag. Find the probability that it bears (i) a
two digit number (i) a number which is a

perfect square

o Watch Video Solution

84. A game of change consists of spinning an
arrow which is equally likely to come to rest

pointing to one of the number, 1, 2, 3, ; 12


https://dl.doubtnut.com/l/_OwR4DMTUtNde
https://dl.doubtnut.com/l/_76yl0R7mCwrl
https://dl.doubtnut.com/l/_mrm06I2r3pMN

as shown in Fig. 13.3. What is the probability
that it will point to: (FIGURE) (i) 107 (ii) an odd

number?

o Watch Video Solution

85. Two customers are visiting a particular
shop in the same week (Monday to Saturday).
Each is equally likely to visit the shop on any
one day as on another. What is the probability
that both will visit the shop on: (i) the same

day? (i) different days?

| e |


https://dl.doubtnut.com/l/_mrm06I2r3pMN
https://dl.doubtnut.com/l/_Qj5DhcnbHgdO

| & Watch Video Solution I

86. In a class, there are 18 girls and 16 boys.
The class teacher wants to choose one pupil
for class monitor. What she does, she writes
the name of each pupil on a card and puts
them into a basket and mixes thoroughly. A
child is asked to pick one card from the basket.
What is the probability that the name written
on card is: (a) the name of a girl (b) the

name of boy?

° Watch Video Solution



https://dl.doubtnut.com/l/_Qj5DhcnbHgdO
https://dl.doubtnut.com/l/_vUCrQSGRqk5L

87. Why is tossing a coin considered to be a
fair way of deciding which team should choose

ends in a game of cricket?

° Watch Video Solution

88. What is the probability that a number
selected at random from the number
1, 2, 2, 3, 3, 3, 4, 4, 4, 4 will be their

average?

| €8 |


https://dl.doubtnut.com/l/_vUCrQSGRqk5L
https://dl.doubtnut.com/l/_1GRIhKPtRfSP
https://dl.doubtnut.com/l/_XQED41qntygs

| ¥ Watch Video Solution J

89. The faces of a red cube and a yellow cube
are numbered from 1 to 6. Both cubes are
rolled. What is the probability that the top

face of each cube will have the same number?

° Watch Video Solution

90. The probability of selecting a green marble
at random from a jar that contains only green,

white and vyellow marbles is 1/4 . The


https://dl.doubtnut.com/l/_XQED41qntygs
https://dl.doubtnut.com/l/_GGOC5K0LSQgi
https://dl.doubtnut.com/l/_dULZxy6e7mrg

probability of selecting a white marble at
random from the same jar is 1/3 . If this jar
contains 10 yellow marbles. What is the total

number of marbles in the jar?

° Watch Video Solution

91. There are 30 cards, of same size, in a bag
on which numbers 1 to 30 are written. One
card is taken out of the bag at random. Find
the probability that the number on the

selected card is not divisible by 3.

| e |


https://dl.doubtnut.com/l/_dULZxy6e7mrg
https://dl.doubtnut.com/l/_RfxS222gkjyQ

& Watch Video Solution I

92. A bag contains 5 red, 8 white and 7 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is (i)
red or white (ii) not black (iii) neither white

nor black.

° Watch Video Solution

93. Find the probability that a number

selected from the number 1 to 25 is not a


https://dl.doubtnut.com/l/_RfxS222gkjyQ
https://dl.doubtnut.com/l/_S8DaEkV8sMAB
https://dl.doubtnut.com/l/_g6q5ybMRsziJ

prime number when each of the given

numbers is equally likely to be selected.

o Watch Video Solution

94. A bag contains 8 red, 6 white and 4 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is (i)

red or white (ii) not black

o Watch Video Solution



https://dl.doubtnut.com/l/_g6q5ybMRsziJ
https://dl.doubtnut.com/l/_tyPm9yfH86vf

95. A bag contains lemon flavoured candies
only. Malini takes out one candy without
looking into the bag. What is the probability
that she takes out (i) an orange flavoured

candy? (ii) a lemon flavoured candy?

o Watch Video Solution

96. It is given that in a group of 3 students, the

probability of 2 students not having the same


https://dl.doubtnut.com/l/_1DYppH9WM30s
https://dl.doubtnut.com/l/_xR8yY0gdit2J

birthday is 0.992. What is the probability that

the 2 students have the same birthday?

o Watch Video Solution

97. A bag contains 3 red balls and 5 black balls.
A ball is drawn at random from the bag. What
is the probability that the ball drawn is (i)

red? (ii) not red?

o Watch Video Solution



https://dl.doubtnut.com/l/_xR8yY0gdit2J
https://dl.doubtnut.com/l/_kpG5AXWc7lLT

98. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is
taken out of the box at random. What is the
probability that the marble taken out will be

(i) red? (ii) white? (iii) not green?

o Watch Video Solution

99. A lot of 20 bulbs contain 4 defective ones.

One bulb is drawn at random from the lot.


https://dl.doubtnut.com/l/_bJOw1xDWtetQ
https://dl.doubtnut.com/l/_hqRICL9YEmmH

What is the probability that this bulb is

defective?

° Watch Video Solution

100. A lot 0of20 bulbs contain 4 defective ones.
One bulb is selected at random from a
lot.Suppose the bulb drawn in (i) is not
defective and not replaced. Now bulb is drawn
at random from the rest. What is the

probability that this bulb is not defective?

° Watch Video Solution



https://dl.doubtnut.com/l/_hqRICL9YEmmH
https://dl.doubtnut.com/l/_2EmhhHq10JFc

101. A box contains 90 discs which are
numbered from 1 to 90. If one discs is drawn at
random from the box, find the probability that
it bears (i) a two digit number (ii) a perfect

square number (iii) a number divisible by 5.

o Watch Video Solution

102. A lot consists of 144 ball pens of which 20
are defective and others good. Nuri will buy a

pen if it is good, but will not buy if it is


https://dl.doubtnut.com/l/_2EmhhHq10JFc
https://dl.doubtnut.com/l/_uXvAVjJUI71O
https://dl.doubtnut.com/l/_r4anRC302cvg

defective. The shopkeeper draws one pen at
random and gives it to her. What is the
probability that (i) She will buy it? (ii) She

will not buy it?

o Watch Video Solution

103. 12 defective pens are accidently mixed
with 132 good ones. It is not possible to just
look at pen and tell whether or not it is

defective. one pen is taken out at random


https://dl.doubtnut.com/l/_r4anRC302cvg
https://dl.doubtnut.com/l/_QWqetFU4RcXm

from this lot. Determine the probability that

the pen taken out is good one.

° Watch Video Solution

104. Five cards - the ten, jack, queen king and
ace of diamonds, are well-shuffled with their
face downwards. One card is then picked up at
random. What is the probability that the card

is the queen?

° Watch Video Solution



https://dl.doubtnut.com/l/_QWqetFU4RcXm
https://dl.doubtnut.com/l/_k4FLmvdULSD0
https://dl.doubtnut.com/l/_dWqFxYJK0OFT

105. Five cards - the ten, jack, queen king and
ace of diamonds, are well-shuffled with their
face downwards. One card is then picked up at
random. If the queen is drawn and put a side,
what is the probability that the second card

picked up is (a) an ace? (b) a queen?

o Watch Video Solution

106. Harpreet tosses two different coins

simultaneously (say, one is of Re 1 and other of


https://dl.doubtnut.com/l/_dWqFxYJK0OFT
https://dl.doubtnut.com/l/_g97JrTuz7Ck1

Rs 2). What is the probability that he gets at

least one head?

o Watch Video Solution

107. Two dice,one blue and one grey, are
thrown at the same time. Complete the
following table: Event: Sum on two dice, 2, 3, 4,

5,6,7,8,9,0, 11,12 Probability , , , , , ,, ,,

,_,. From the above table a student argues

that there are 11 possible outcomes 2, 3, 4, 5, 6,

7, 8,9, 10, 11 and 12. Therefore, each of them


https://dl.doubtnut.com/l/_g97JrTuz7Ck1
https://dl.doubtnut.com/l/_PFBM3c3mNbhf

has a probability 1/11. Do you agree with this

argument?

° Watch Video Solution

108. Cards marked with numbers 13, 14, 15, 16
are placed in a box and mixed thoroughly. One
card is drawn at random from the box. Find
the probability that number on the card
drawn is (a) divisible by 5 (b) a number is

a perfect square

° Watch Video Solution



https://dl.doubtnut.com/l/_PFBM3c3mNbhf
https://dl.doubtnut.com/l/_8g0i8aCcn9DM

109. A bag contains 6 red balls and some blue
balls. If the probability of drawing a blue ball
from the bag is twice that of a red ball, find

the number of blue balls in the bag.

o Watch Video Solution

110. A bag contains tickets numbered 11, 12, 13,
...... , 30. A ticket is taken out from the bag at

random. Find the probability that the number


https://dl.doubtnut.com/l/_8g0i8aCcn9DM
https://dl.doubtnut.com/l/_kkStoxFZ6Mwd
https://dl.doubtnut.com/l/_IueKY7lBQh2P

on the drawn ticket (i) is a multiple of 7 (ii) is

greater than 15 and a multiple of 5.

° Watch Video Solution

11. The king, queen and jack of clubs are
removed from a deck of 52 playing cards and
the remaining cards are shuffled. A card is
drawn from the remaining cards. Find the
probability of getting a card of (i) heart (ii)

queen (iii) clubs.

° Watch Video Solution



https://dl.doubtnut.com/l/_IueKY7lBQh2P
https://dl.doubtnut.com/l/_GnjekyYhzR1Y

112. Two dice are thrown simultaneously. What
is the probability that: 5 will not come up on
either of them? 5 will not come up on at least

one? (iii) 5 will come up at both dice?

o Watch Video Solution

113. Fill in the blanks: (i) Probability of a sure
event is ... (i) Probability of an impossible
event is ... (iii) The probability of an event

(other than sure and impossible event) lies


https://dl.doubtnut.com/l/_GnjekyYhzR1Y
https://dl.doubtnut.com/l/_ZayfjpRReO9Q
https://dl.doubtnut.com/l/_eOwJUwd3Vw6t

between ... (iv) Every elementary event
associated to a random experiment has ...
probability. (v) Probability of an event A +
Probability of event "= A’ =.... (vi) Sum of
the probabilities of each outcome in an

experiment Is ...

o Watch Video Solution

114. Examine, If two coins are tossed at the
same time, there are 3 possible outcomes two

heads, two tails, or one of each. Therefore, for


https://dl.doubtnut.com/l/_eOwJUwd3Vw6t
https://dl.doubtnut.com/l/_XkHVKyP9Gm5q

each outcome, the probability of occurrence is

1/3.

° Watch Video Solution

115. Examine, If a die is thrown once, there are
two possible outcomes an odd number or an
even number. Therefore, the probability of
obtaining an odd number is 1/2 and the
probability of obtaining an even number is

1/2.

o Watch Video Solution



https://dl.doubtnut.com/l/_XkHVKyP9Gm5q
https://dl.doubtnut.com/l/_UxHNhXdNHiVd

116. A box contains 100 red cards, 200 yellow
cards and 50 blue cards. If a card is drawn at
random from the box, then find the probability
that it will be (i) a blue card (ii) not a yellow

card (iii) neither yellow nor a blue card.

o Watch Video Solution

117. A number is selected at random from first
50 natural numbers. Find the probability that

it is a multiple of 3 and 4.


https://dl.doubtnut.com/l/_UxHNhXdNHiVd
https://dl.doubtnut.com/l/_QEmchmnJ1p44
https://dl.doubtnut.com/l/_JT6OemRXH6sO

° Watch Video Solution

118. A box contains cards numbered 3, 5, 7, 9,
..... , 35, 37. A card is drawn at random from the
box. Find the probability that the number on

the drawn card is a prime number.

o Watch Video Solution

119. A group consists of 12 persons, of which 3

are extremely patient, other 6 are extremely


https://dl.doubtnut.com/l/_JT6OemRXH6sO
https://dl.doubtnut.com/l/_knKfm3xvRsAV
https://dl.doubtnut.com/l/_xg1UqTNaQl5h

honest and rest are extremely kind. A person
from the group is selected at random.
Assuming that each person is equally likely to
be selected, find the probability of selecting a
person who is (i) extremely patient (ii)
extremely kind or honest. Which of the above

you prefer more.

o Watch Video Solution

120. Cards numbered 1 to 30 are put in a bag.

A card is drawn at random from this bag. Find


https://dl.doubtnut.com/l/_xg1UqTNaQl5h
https://dl.doubtnut.com/l/_q1B3MQ4WlNVA

the probability that the number on the drawn
card is (i) not divisible by 3 (i) a prime
number greater than 7 (iii) not a perfect

square number.

° Watch Video Solution

121. A dice is rolled twice. Find the probability
that (i) 5 will not come up either time. (ii) 5 will

come up exactly one time.

° Watch Video Solution



https://dl.doubtnut.com/l/_q1B3MQ4WlNVA
https://dl.doubtnut.com/l/_c4IDAW9vIIh9
https://dl.doubtnut.com/l/_ds8vR2MDb4jK

122. All the black face cards are removed from
a pack of 52 cards. The remaining cards are
well shuffied and then a card is drawn at
random. Find the probability of getting a (i)
face card (ii) red card (iii) black card (iv)

king.

o Watch Video Solution

123. Cards numbered from 11 to 60 are kept in
a box. If a card is drawn at random from the

box, find the probability that the number on


https://dl.doubtnut.com/l/_ds8vR2MDb4jK
https://dl.doubtnut.com/l/_ELX62HHbIviX

the drawn cards is (i) an odd number (ii) a

perfect square number

° Watch Video Solution

124. A bag contains cards numbered from 1 to
49. A card is drawn from the bag at random,
after mixing the card thoroughly. Find the
probability that the number on the drawn
card is (i) an odd number (ii) a multiple of 5
(i) a perfect square (iv) an even prime

number.

| e |


https://dl.doubtnut.com/l/_ELX62HHbIviX
https://dl.doubtnut.com/l/_heqYWC56XtLl

& watch Video Solution I

125. All kings and queens are removed from a
pack of 52 cards. The remaining cards are well-
shuffled and then a card is randomly drawn
from it. Find the probability that this card is (i)

a red face card (ii) a black card.

° Watch Video Solution

126. Red queens and black jacks are removed

from a pack of 52 playing cards. A card is


https://dl.doubtnut.com/l/_heqYWC56XtLl
https://dl.doubtnut.com/l/_EqciWOvbQxHF
https://dl.doubtnut.com/l/_s7jnnyds79ut

drawn at random from the remaining cards,
after reshuffling them. Find the probability
that the card drawn is (i) a king (ii) of red

colour (iii) a face card (iv) a queen

o Watch Video Solution

127.1n a bag contains 20 cards numbered from
1 to 20. A card is drawn at random from the
box. Find the probability that the number on
the drawn card is (i) divisibly by 2 or 3

(i1) a prime number

| e |


https://dl.doubtnut.com/l/_s7jnnyds79ut
https://dl.doubtnut.com/l/_sm9TMkzyNDew

& Wwatch Video Solution I

128. In a bag there are 44 identical cards with
figure of circle or square on them. There are 24
circles, of which 9 are blue and rest are green
and 20 squares of which 11 are blue and rest
are green. One card is drawn from the bag at
random. Find the probability that it has the

figure of (i) square (ii) green colour,

° Watch Video Solution



https://dl.doubtnut.com/l/_sm9TMkzyNDew
https://dl.doubtnut.com/l/_xZSdIt4OSQ5Z

129. In a musical chair game, the person
playing the music has been advised to stop
playing the music at any time within 2 minutes
after she starts playing. What is the
probability that the music will stop within the

first half minute after starting?

o Watch Video Solution

130. A missing helicopter is reported to have

crashed somewhere in the rectangular region


https://dl.doubtnut.com/l/_yutwWA9OtwZg
https://dl.doubtnut.com/l/_EGaDlAgarrCw

in Fig. 13.5. What is the probability that it is
crashed inside the lake shown in the figure?

(FIGURE)

o Watch Video Solution

131. In the Fig. 1312, JK LM is a square with
sides of length 6 units. Points A and B are the
mid-points of sides KL and LM respectively.
If a point is selected at random from the

interior of the square. What is the probability


https://dl.doubtnut.com/l/_EGaDlAgarrCw
https://dl.doubtnut.com/l/_tTokD6ty6GKs

that the point will be chosen from the interior

of JAB ? (FIGURE)

° Watch Video Solution

132. Suppose you drop a tie at random on the
rectangular region shown in Fig. 13.14. What is
the probability that it will land inside the circle

with diameter Tm? (FIGURE)

o Watch Video Solution



https://dl.doubtnut.com/l/_tTokD6ty6GKs
https://dl.doubtnut.com/l/_ALiMeJKp5SyO

133. Cards each marked with one of the
numbers 4, 5, 6, ....., 20 are placed in a box and
mixed thoroughly. One card is drawn at
random from the box. What is the probability

of getting an even number?

o Watch Video Solution

134. One card is drawn from a well shuffled
deck of 52 playing cards. What is the

probability of getting a non-face card?

| & I


https://dl.doubtnut.com/l/_xp2t1vPHaHXc
https://dl.doubtnut.com/l/_DPrQKEOjHMlb

| ¥ Watch Video Solution |

135. A bag contains 5 red, 8 green and 7 white
balls. One ball is drawn at random from the
bag. What is the probability of getting a white

ball or a green ball?

° Watch Video Solution

136. A die it thrown once. What is the

probability of getting a prime number?

o Watch Video Solution



https://dl.doubtnut.com/l/_DPrQKEOjHMlb
https://dl.doubtnut.com/l/_u3Z3EkJ65a4e
https://dl.doubtnut.com/l/_09iOLKQXSt7m

137. A die is thrown once. What is the
probability of getting a number lying between

2 and 67

o Watch Video Solution

138. A die is thrown once. What is the

probability of getting an odd number?

° Watch Video Solution



https://dl.doubtnut.com/l/_09iOLKQXSt7m
https://dl.doubtnut.com/l/_Bf3SbzrtYf57
https://dl.doubtnut.com/l/_a4seatNkKiAw
https://dl.doubtnut.com/l/_C9Z8ozp3Xahc

139. If £’ denote the complement of an event

E ,what is the value of P(E’) + P(E)?

o Watch Video Solution

140. One card is drawn at random from a well
shuffled deck of 52 cards. What is the

probability of getting an ace?

o Watch Video Solution



https://dl.doubtnut.com/l/_C9Z8ozp3Xahc
https://dl.doubtnut.com/l/_BZf3n2ny7IAJ

141. Two coins are tossed simultaneously. What

is the probability of getting at least one head?

° Watch Video Solution

142. Tickets numbered 1 to 20 are mixed up
and then a ticket is drawn at random. What is
the probability that the ticket drawn bears a

number which is a multiple of 3?

o Watch Video Solution



https://dl.doubtnut.com/l/_VT7tYBMXMvjz
https://dl.doubtnut.com/l/_NlN6K8thgRK3
https://dl.doubtnut.com/l/_LMPDN2iNMD9n

143. From a well shuffled pack of 52 cards, a
card is drawn at random. Find the probability

of getting a black queen.

o Watch Video Solution

144. A die is thrown once. Find the probability

of getting a number less than 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_LMPDN2iNMD9n
https://dl.doubtnut.com/l/_mRjIS6mRAq0k

145. Two coins are tossed simultaneously. Find

the probability of getting exactly one head.

o Watch Video Solution

146. A die is thrown once. What is the
probability of getting a number greater than

47

o Watch Video Solution



https://dl.doubtnut.com/l/_M2BYyZFO6fob
https://dl.doubtnut.com/l/_JTaOt9K0CBMP

147. What is the probability that a number
selected at random from the numbers 3, 4, 5,

...... , 9 is a multiple of 47

o Watch Video Solution

148. A letter of English alphabet is chosen at
random. Determine the probability that the

chosen letter is a consonant.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6R5AWAVWX0o
https://dl.doubtnut.com/l/_oIZGNMaNPKqe
https://dl.doubtnut.com/l/_QYVqoAy6Rx9J

149. If a digit is chosen at random from the
digits 1, 2, 3, 4, 5, 6, 7, 8 9 , then the
probability that it is odd, is

(a)%
5}

(b) 35

1
(C)§
q 2
()§

o Watch Video Solution

150. If a digit is chosen at random from the

digits 1, 2, 3, 4, 5, 6, 7, 8 9 , then the


https://dl.doubtnut.com/l/_QYVqoAy6Rx9J
https://dl.doubtnut.com/l/_BRmmmkymjLab

probability that the digit is even, is

(a)%

P P

= T

N

co| b ©| — o] on

—~
o
N

Watch Video Solution

v

151. If a digit is chosen at random from the
digits 1, 2, 3, 4, 5, 6, 7, 8 9 then, the
probability that the digit is a multiple of 3 is

1
(a)g


https://dl.doubtnut.com/l/_BRmmmkymjLab
https://dl.doubtnut.com/l/_VbA3NkIj0uZV

—~ o~~~
SN

P
a
N
©| O H |

o Watch Video Solution

152. If three coins are tossed simultaneously,
then the probability of getting at least two
heads, is

( )1

3

(b) <


https://dl.doubtnut.com/l/_VbA3NkIj0uZV
https://dl.doubtnut.com/l/_qi29qWBd7vwP

1
(C)E
q 1
()Z

° Watch Video Solution

153. In a single throw of a die, the probability

of getting a multiple of 3 is

1
(8)5

—~
SN

—_
a
N
| o S|~ |

o Watch Video Solution



https://dl.doubtnut.com/l/_qi29qWBd7vwP
https://dl.doubtnut.com/l/_6JYPjqFcqZGs

154. A number x is chosen at random from the

numbers -3, —2, — 1,0, 1, 2, 3 the

. .5 2 3
probability that || < 2 is 7 (b) = (c) = (d)
1
7

° Watch Video Solution

155. A bag contains three green marbles, four
blue marbles, and two orange marbles. If a

marble is picked at random, then the


https://dl.doubtnut.com/l/_6JYPjqFcqZGs
https://dl.doubtnut.com/l/_4LcCAeAjPlP3
https://dl.doubtnut.com/l/_gHsffxXiiE4C

probability that it is not an orange marble is

! d
L0 2O 5 @1

° Watch Video Solution

156. The probability of throwing a number

3
greater than 2 with a fair dice is 5 (b) — (c)

5
2 .
33

° Watch Video Solution



https://dl.doubtnut.com/l/_gHsffxXiiE4C
https://dl.doubtnut.com/l/_tOZtsbCD56Tc

157. A card is accidently dropped from a pack

of 52 playing cards. The probability that it is

i 1(b) ! (c) . (Cl)l2
an ace is TS T

o Watch Video Solution

158. The probability that a non-leap year has

53 sundays, is

2

(3)7

b) >
(b) -


https://dl.doubtnut.com/l/_qYWIJ2tZTU9c
https://dl.doubtnut.com/l/_3bnnDiZx5iTL

( 6
C)7
1

(d)

° Watch Video Solution

159. A number is selected from numbers 1 to

25. The probability that it is prime is

2
(a)§

—
(o)
N

P
o
o| oW F o~

—
o
N

o Watch Video Solution



https://dl.doubtnut.com/l/_3bnnDiZx5iTL
https://dl.doubtnut.com/l/_XuXHSigeSZCX

160. In a single throw a pair of dice, the
probability of getting the sum a perfect
square is
(a) .
V18

7

36
1

(b)
(C)g
q 2
()5

o Watch Video Solution



https://dl.doubtnut.com/l/_XuXHSigeSZCX
https://dl.doubtnut.com/l/_C7EqDCIh4UqM

161. Which of the following cannot be the

probability of an event?

(a)§
(b) —1.5
(c) 15 %

(d)0.7

o Watch Video Solution

162.If P(E) = 0.05,then P(— E) =

(@a)—0.05(b) 0.5


https://dl.doubtnut.com/l/_iIn6ze0bMhb5
https://dl.doubtnut.com/l/_doKBnPNkXaRE

(c)0.9

(d) 0. 95

° Watch Video Solution

163. Which of the following cannot be the

probability of occurrence of an event? 0. 2 (b)

0.4(c)0.8(d) 1.6

° Watch Video Solution



https://dl.doubtnut.com/l/_doKBnPNkXaRE
https://dl.doubtnut.com/l/_Q5LPkjl6Lran

164. The probability of a certain event is 0 (b) 1

(c) 1/2 (d) non-existent

o Watch Video Solution

165. The probability of an impossible event is 0

(b) 1(c) 1/2 (d) non-existent

o Watch Video Solution



https://dl.doubtnut.com/l/_AHxa1jzpq2yF
https://dl.doubtnut.com/l/_rmO8z7Ub6oPX

166. What is the probability that a non-leap
6 1 5
year has 53 Sundays? z (b) - (c) - (d) None

of these

o Watch Video Solution

167. Aarushi, sold 100 lottery tickets in which 5
tickets carry prizes. If Priya purchased a ticket,

what is the probability of Priya winning a

19 1 1 17

20 (b) o5 (c) Q_O(d) 20

prize?

o Watch Video Solution



https://dl.doubtnut.com/l/_pfGamC4ZVXER
https://dl.doubtnut.com/l/_oqzbHVHKpP9y

168. A number is selected from first 50 natural

numbers. What is the probability that it is a

13 21 12 23

' 2 (b) — () — (d) —
multiple of 3 or 57 5% (b) =0 () 5% (d) =0

° Watch Video Solution

169. Two dice are rolled simultaneously. The

2
probability that they show different faces is 3
5

b - - d

° Watch Video Solution



https://dl.doubtnut.com/l/_oqzbHVHKpP9y
https://dl.doubtnut.com/l/_IOtXbLGuXtkq
https://dl.doubtnut.com/l/_6o8JtnFCcLXD

170. What is the probability that a leap year

has 52 Mondays?

° Watch Video Solution

171. A month is selected at random in a year.

The probability that it is March or October, is

1 1

3
T (b) s (c) 1 (d) None of these

° Watch Video Solution



https://dl.doubtnut.com/l/_oN9uk1Ug92HI
https://dl.doubtnut.com/l/_ABPQ1INHEE3K

172. From the letters of the word MOBILE, a

letter is selected. The probability that the

letter i |'1(b)3()1(d)1
etter is a vowel, is - = (A & 5

o Watch Video Solution

173. If a two digit number is chosen at random,

then the probability that the number chosen

i Itipl f3'()3(b)29()1(d)
is a multiple of 3, is (a) -5 00 © 3

7

25

o Watch Video Solution



https://dl.doubtnut.com/l/_UVX7AUiEp1GC
https://dl.doubtnut.com/l/_ZbfUfC6gJkV0

174. Two dice are thrown together. The

probability of getting the same number on

1

both dice i 1(b)1()1(d)
oth diceis = (b) - (c) = (d)

° Watch Video Solution

175. A die is thrown once. The probability of

2 1 1
getting a prime number is — (b) — (¢) = (d)
3 3 2
1
6

° Watch Video Solution



https://dl.doubtnut.com/l/_ZbfUfC6gJkV0
https://dl.doubtnut.com/l/_iqaPz25T9DzQ
https://dl.doubtnut.com/l/_Ls9YSgjXQS3D

176. The probability of getting an even number,

1 1
when a die is thrown once is (a) 3 (b) 3 (c) 5

(d) >
6

o Watch Video Solution

177. A box contains 90 discs, numbered from 1
to 90. If one disc is drawn at random from the
box, the probability that it bears a prime

ber less than 23, i ’ (b) 1O() 4 (d)
number less than 23, is o 90 © VT
9

89

| & I


https://dl.doubtnut.com/l/_sFJuIIUvEUG6
https://dl.doubtnut.com/l/_qPWrfWrlAtrn

| ¥ Watch Video Solution |

178. The probability that a number selected at

random from the numbers 1, 2, 3, ; 15 is a

itiple of 4, is — (b) —- (c) — (d) ~
multiple of 4,is — (b) — (c) — (d) —
TP 5 15 5 3

o Watch Video Solution

179. A bag contains cards numbered from 1 to
25. A card is drawn at random from the bag.

The probability that the number on this card


https://dl.doubtnut.com/l/_qPWrfWrlAtrn
https://dl.doubtnut.com/l/_RzqE8GCw7Bvd
https://dl.doubtnut.com/l/_xeXnenQMayVx

1 3
is divisible by both 2 and 3. (a) 5 (b) 2% (c)

4
55 @ 55

° Watch Video Solution

180. Two different coins are tossed

simultaneously. The probability of getting at

least hd'l(b)l()3(d)7
east one nea ISZ § C Z g

° Watch Video Solution



https://dl.doubtnut.com/l/_xeXnenQMayVx
https://dl.doubtnut.com/l/_FzAOpefvHnLE

181. If two different dice are rolled together,

the probability of getting an even number on

both d L by L0t =
o) |ce|s()36()2(c)6()4

o Watch Video Solution

182. A number is selected at random from the

numbers 1 to 30. The probability that it is a

i b'()2(b)1()1(d)11
prime number is (a) 5 5 (03 20

o Watch Video Solution



https://dl.doubtnut.com/l/_S4TiFe1Ps7nm
https://dl.doubtnut.com/l/_IClj3g9QYkh4
https://dl.doubtnut.com/l/_9UjgzPUh57Bw

183. A card is drawn at random from a pack of

52 cards. The probability that the drawn card

1 9 12
is not an ace is (a) — B (b) E (c ) (d) 3

o Watch Video Solution



https://dl.doubtnut.com/l/_9UjgzPUh57Bw

